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 BGYCT-135  

BACHELOR OF SCIENCE (GENERAL) 

(BSCG)  

Term-End Examination 

December, 2022 

 

 

BGYCT-135 : PETROLOGY 

Time : 2 hours Maximum Marks : 50 

Note : All questions are compulsory. Marks allotted  

for each question are indicated against it. Draw 

well-labelled diagrams, wherever required. 

 

1. Briefly answer any five questions of the  

following : 52=10 

(a) Define metamorphism. 

(b) What are meteorites ? 

(c) Distinguish between silica oversaturated 

and silica undersaturated igneous rocks. 

(d) List the processes of magmatic 

differentiation involved in fluid state of 

magma.  
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(e) Give the petrographic significance of Ab-An 

System.  

(f) List four felsic rocks.  

(g) What is uralitisation ? 

(h) Define lithification.  

(i) What is heat flow ? 

(j) Write about evaporites.  

2. Write short notes on any four of the  

following : 45=20 

(a) Regional Metamorphism 

(b) Uses of Rocks  

(c) Poikilitic texture  

(d) Colour Index  

(e) Physical properties of Magma  

(f) Sorting  

(g) Low-temperature limit of metamorphism 

(h) Cross-bedding 

3. Answer any one of the following : 110=10 

(a) Discuss briefly the structures found in 

igneous rocks.  

(b) Briefly describe the common types of 

sedimentary rocks.  
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4. (a) Explain the importance of studying 

sedimentary rocks.  5 

(b) Discuss the types of processes involved in 

physical weathering.   5 

 OR 

(a) Discuss the factors affecting textures found 

in metamorphic rocks.  5 

(b) Explain the chemical structures found in 

sedimentary rocks.  5 
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 ~r.Or.dmB©.gr.Q>r.-135  

{dkmZ ñZmVH$ (gm_mÝ`) 
(~r.Eg.gr.Or.) 

gÌm§V narjm 

{Xgå~a,  2022 

 

 

~r.Or.dmB©.gr.Q>r.-135 : e¡b{dkmZ 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> :  g^r àíZ A{Zdm`© h¢ & àË`oH$ àíZ Ho$ A§H$ CgHo$ gm_Zo {XE 

JE h¢ & Ohm± Amdí`H$ hmo, gwZm_m§{H$V AmaoI ~ZmBE & 

 

1. {ZåZ{b{IV _| go {H$Ýht nm±M  àíZm| Ho$ CÎma g§jon _| 
Xr{OE : 52=10 

(H$) H$m`m§VaU H$mo n[a^m{fV H$s{OE & 

(I) CëH$mqnS> Š`m h¢ ?  

(J) {g{bH$m A{Vg§V¥ßV VWm {g{bH$m Adg§V¥ßV Am½Zo` 

e¡bm| _| A§Va ñnï> H$s{OE &  

(K) _¡½_m H$s Ðd/J{bV AdñWm _| _¡½_r` {d^oXZ H$s 

à{H«$`mAm| H$s gyMr ~ZmBE & 
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(L>) Ab-An àUmbr H$m e¡bdU©Zm _hÎd ~VmBE & 

(M) Mma \o$pëgH$ e¡bm| H$s gyMr ~ZmBE & 

(N>) `yaobmBQ>r^dZ Š`m h¡ ? 

(O) {ebr^dZ H$mo n[a^m{fV H$s{OE & 

(P) D$î_m àdmh Š`m h¡ ? 

(Äm) Bd¡nmoamBQ> Ho$ ~mao _| {b{IE &  

2. {ZåZ{b{IV _| go {H$Ýht Mma   na g§{jßV {Q>ßn{U`m± 
{b{IE : 45=20 

(H$) àmXo{eH$ H$m`m§VaU 

(I) e¡bm| Ho$ Cn`moJ 

(J) bKw{H«$ñQ>b A§Vd}er JR>Z  

(K) a§J gyMH$m§H$ 

(L>>) _¡½_m Ho$ ^m¡{VH$ JwU  

(M) àdaU 

(N>) H$m`m§VaU H$s {ZåZ-Vmn gr_m  

(O) {V`©H$-g§ñVaU 

3. {ZåZ{b{IV _| go {H$gr EH$  H$m CÎma Xr{OE : 110=10 

(H$) Am½Zo` e¡bm| _| nmB© OmZo dmbr g§aMZmAm| H$s g§jon 
_| MMm© H$s{OE & 

(I) gm_mÝ` àH$ma Ho$ AdgmXr e¡bm| H$m g§jon _| dU©Z 
H$s{OE & 
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4. (H$) AdgmXr e¡bm| Ho$ AÜ``Z Ho$ _hÎd H$mo g_PmBE & 5 

(I) ^m¡{VH$ Anj` _| hmoZo dmbr {d{^Þ à{H«$`mAm| H$s 

MMm© H$s{OE & 5 

 AWdm 

(H$) H$m`m§V[aV e¡bm| Ho$ JR>Z H$mo à^m{dV H$aZo dmbo 

H$maH$m| H$s {ddoMZm H$s{OE & 5 

(I) AdgmXr e¡bm| _| nm`r OmZo dmbr amgm`{ZH$ 

g§aMZmAm| H$s ì`m»`m H$s{OE &  5 


